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= Solve the following Questions
®  Stick this paper with the answer sheet after solvimg the choove and Troe Faba gquestions
Ouestion One (20 marks)
) Define ihe follow irlj_.' terms Risk management, Cusiomer properly. (s cmpatence. Kanban
bk Stare with an example the types of quality gosts
&) State three of the new requirements for the [S0 90012015 changes
di Hinw is the responsible on guality in the organtration?

Duestion Two: {20 marks)

i) What is the difference between comrective and preventive actions with exomple 7

bj In a manufaciuring company, a degradation  o<RS ¢ 3 of its market share in Egypt is increase
during the last & vears, wse the 5 why analysis 10 find couscs of the problem and o propose a solution
€) What are the main requiremsein of 190 9001 for the purchasing peocess?

dp What is the difference between; DMAIC aml DMADY

o} What is the meaning of the following abbreviations: PO, TPM, FTY, VSM, RPN,

Ouestion Three (15 marks)
Chose the correct word or statement for cach of the following:
[Write the true | =
| betten{shhere |
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_|_Three of the traditional TRM model component { or 117
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[d) Defects = = -._r Transportation Gver processing
2} Lean =1 b} motion 1) Value added activity

i Waimng [k TIMWOOD |1 Kaizen
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Question Four (20 marks)

al Dvaw a process model for cach of the following as 8 process: Purchasing process. design
proceis, prodoction process

b} Measurenent snalysis and improvement is @ requirerment For 150 9001gulity system, state
four measunes that have o be performed in this system.

ey Dwaw a sehematic diagram for the Kano niodel

Cuestion Five: (25 marks)

Put (True) of {False) for each of the followlag staloments and cormect the fabe statorment

Final Exam

Write T o
o L5 7
| l"l:llk.'l marsd be smart
| 2 } |"'l.'l||-.._;- |1-:|Frnlp¢'“0ﬂ: for setting '\IHH:*
¥ | Continaal improvement of the otganiation's overall perfommance shoold be a
_| permancnl oljective of the organizalion,
4| Effective decisions are hqwd on manger wiew point,

3 |
]

T | The outpul o rrl.'|n:|5:m<m review shall nclede information ome-
o) Results of audits, b) Custonser fecdback, ) Statas of preventive and corrective

Irnpf-:-wnwls in quality can icad 4 dmﬂ} W incrcawd rnuh..imh and other benelis |
Th¢ Mt statemend i a declaration of what 2n onganisation shoald ook like five 1o
1en yeans in the futune ) AR
The wishon statement anewers the Il.sll-uming questions S Whe we are 7 Who are the |
| customiers” " What we do?,” How we do |.1 7
t}-r-allh pnlhr\ mest ber a) communialed and underdood within the “organization, |
and b) reviewed for continuing suitability

n s unum-w approach 1B wies li\l-\K 'I'I'h‘:lh.‘dlﬂ_ﬁg-_

K umjhm_'r that 'M\rk; with three sigma s rmn,r that that which works with fi  Tive sigimi ___
Il | Qnaluq AssurAnce revien Emduc 1 oukly
13 | The cutcomes of continuces i improvement are incroane Muchation and decreased
- ]ﬂmlﬂk\.
[T l;_l_—ﬂlh contnod |5|1._nol upn_m;m:m ~
I? cieney is arehiving some level of ﬂ”l:L[l\'If‘.ﬂ.h" i Ie-:.s Eme or with less ess ellarl
I ¥ it imcnns change o beller

l‘-l' | 1 wyslem is hetler than Ell Syt
"iJ | Six vigma isa I'h':‘l_b-ai logy that nnlﬂﬁﬂnns 'm:h ﬁ:s:u.r-.i on lf'c“d m.!ql‘r'u.qn‘\

(21 | Leam dl-p:nmws is 1o nedisce process variation and delect mtes while siv sigma is bo

27 | Six skgma philosaphy 15 00 inroduee small and cominuous im improvement while kateen |

___| 510 introdace brake though improvement.
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